8 TeV
= T I I T T

S 20 cms .
> [ Simulation ]
o 10; O, in lepton + jets channel 7
E Tr 1
g L i
@ of ]
@ 0p R
5 T ® AL, ]
%‘_10; A A N
le) r --- Fitto A'yy ]
r —FittoAcp 4
=200, T
-20 -10 0 10 20
Input asymmetry ACP [%0]

8 TeV

= T T I I T T

S, 20rcms .
> [ Simulation ]
‘3 lO; O, in lepton + jets channel N
E " -]
g [ L AR
a\ L -
s O 7
‘g’_ [ ]
= _10; A AF:P ;
o) L --- FittoA'p ]
r — Fitto A, 1
=20/ " P S S RS B

-20 -10 0 10 20

Input asymmetry ACP [%0]

8 TeV

S 20 cms .
> [ Simulation ]
g lO; O, in lepton + jets channel 7
g I -7 1
U>‘) L -
s o 3
5 [ ]
S 100 .
8 C --- Fit oA ]
F —FittoAg, 1
=200, T
-20 -10 0 10 20
Input asymmetry ACP [%0]

8 TeV

= T T I I T T

X 20r cms .
> [ Simulation ]
‘3 10; O, in lepton + jets channel ° N
E " 1
E | i
a\ L -
g o 3
5 I o A, ]
%_10; A AF:P ;
o) L --- Ffl A, ]
r — Fitto A, ]
=20, , P S R R B

-20 -10 0 10 20

Input asymmetry ACP [%0]



